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fgor: (i) T Uy e §

(i) woi & % 9% o= 73 7 5

(iii) =t smavas ©, W= AmiEa (=7 5 |

Note : (i) All questions are compulsory.
(i) Marks for each question are given against that guestion,

(iii) Draw neat and clean labelled diagram, wherever required.
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(2)

1. freitafen =1 ufte sivw 3 w9 § == Fi .
3x+l.
X
Express the following :

3x+l
X

as rational expression. 2
L] ) o
2. P, 3P 3 2P =1 =qafard @ Firaw

Find the fourth proportional of P, 3P and 2P 2
§*31¥4F&

Find the discriminant of the quadratic equation :

2 . -

X —3x+4=0. 2
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(3)

4. TR dorn T i e o 2.1 6. &
Find the area of a circle of radius 2.1 ecm.

5. 7@ w1 e @ Fi uier e )
Define the secant of a circle.

Define circumcentre of a triangle.

7. W mIE =

(1= cos ) (1 +cos 6) (1 + cot 8).

Simplify :

(1~ cos 8) (1 + cos 6) (1 +cot 6).

M-7
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(4 )
8. T=ITEE w1 9F A6 FI90
sin® 25° + cos. 25°

Find the value of the following :

sin” 25° + r-:‘n::s2 25° 2
9. ﬁ'ﬂiﬁﬁﬁiﬁl 1 1 TIfEAeT FIa R -
: 5,7,9,3, 2 8,10, 4, 12.
Find the Median of the following values :

5,7,9,3.2 8,10, 4, 12. 2
10. =@ == % YR F99: 70, 73, 72, 76, 74, 80 &% 110 fFm. ¥1 395
Weight of seven boxes are 70, 73. 72, 78, 74, 80 and 110 kg
respectively. Find the appropriate average. )

V-7




(5 )

11, 21 g w1 = 35 3R g o= 13 ¥ 1 FEAn 7 i |

The sum of two numbers is 35 and their difference is 13. Find the

3
numbers.

12. K =1 O 9 Hife fads foe 53 .
Kx+2y=7
3x+y=1
=1 U= Algad & B
Find the value of K for which the sysiem :
Kx+2y=7
3x+y=1
has a unique solution.
13 TGS TIA HIG
a (r.‘J2 - cg) + b {r:2 — aE] +C {az - bE}.

K—4035-A1
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( 6)
Factorize
a {bg - CE) +b {.n::E - az') +C {a‘_g- bz} 3
14, Fretfetfiod = s =1 g fof & 2ot 0T -
2x —x-6=0
Solve the following guadratic equation by formula method :
2 _22 —x—6=0 3

15. T FisiweT T Gied i (A 42 T 1 400 T TR A 4 9% fEe 2
7 = 7
The radius of the wheel of a cycle is 42 cm. How much distance
will it cover in 400 revolutions ?
HAdr
(On)
T Tl T 4851 = FH. ¥ ) 3 SAE F o |
The volume of a sphere is 4851 cubic cm. Find its diameter. 3

M7




(7))

16. 731 ABC =1 uftgw &fifd, sel AB = 5 571, BC = 7 T, @
Z/ABC = 50° & | T & Yg |l farae
Construct A ABC in which AB = 5 cm., BC =7 c¢m. and
/ABC = 50°. Draw the circumcircle to this triangle. Write the steps

of construction also. 3

17. Tag wii9g i+ ¢

1-cos A _ sin A
sin A 1+cos A

Prove that :

1-cosA _ sinA
sinA  1+cosA’ 3

-18. IF-]RH 3:|r+ L{ﬁ:ﬁ H

1A (secA + fan A).

1—sin A
Prove that :
E—El_n—A = (sec A + tan A}E.
1-sin A '
K—4035-A1 Turn Over
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oz =ited .

tan@

Sin(90° — 6) cos (90° - 6)

= cos?#h.

Prove that :

in(80° - @ 5-(90° - 0 -
sin( 0) cos:( 'B].: anst,
. tant

¥

19. =14 =qqs ABCD # afg ZA = (2 x + 4)°, £B = (y + 3)°

ZC = (2 y+10)° it £D = (4 x— 5)° &1, 31 =i} =i 7 =

Find the four angles in a cyclic quadrilateral ABCD, if
ZA = (2 x +4)°, £B = (y + 3)°, £C = (2 y + 10)° and
4D = (4 x-5)°.

M-7




(9 )

20. U V% F HAFR % 79 T 651 71 H1=7 w9 @ B 7 F s ==

13 122 7| 3HH1 9% T6 FHTAT

- A conical tent is made of 65n square metre of canvas. The slant

height of the tent is 13 metres. Find its height. 4

% STUN F oA B 8

Prove that the ratio of the area of two similar triangles is equal to

the ratio of the square of any two corresponding sides.
Jgar
(On)

T EH 5 1 AN 150 HeX 5 & S v 39 #57 ofy 200 e s

FaEd 9 IR T § e s w2

A man goes 150 metres due East and then 200 metres due North.

How far is he from the starting point ? 4

K—4035-A1 Turn Over
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(10 )

22. =tz fas H wsh g &1 g1 31T 21 =0T+ A AR % e 5, 4 e
4 % HHA R0 HHE B F | TG e |
Prove that in a triangle, if the square of one side is equal to the
sum of the square of the other two sides, then the angle opposite
to the first side is a right angle.

23. 5 FHi o = U g9 | AB 2w AC =1 siamd £, 5l AB = AC = 6 &+ |
i1 BC =1 @i 3 it |
In a circle of radius 5 cm. AB and AC are two chords such that

AB = AC = 6 cm. Find the length of the chord BC.

24. Tag =ifs T v & &= @ S = == T o5 Si" %1 gEigdiEa

T
Prove that the perpendicular drawn from the centre of a circle on
a chord bisect the chord.

K—4035-A1
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| B

HeEdr

(on

g Fi e o dF wETE g ¥ 29 1F oW e U 71 g9 e

Prove that there is one and only one circle passing through three

noncollinear points. 4

25, =1 FHR WFd WA TG Hiaw (555 =71 =1 90 221 F

Find the two consecutive natural numbers whose square have the

sum 221. 5

(b—¢)x+(c—a yv+la-b)z=0,

X y z

E4-g £243 axb’

then prove that :
(b—c)x+(c—a y+(a—b)z=0. 5

K—4035-A1 Turn Over
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(12 )
27. =% PAB U= 37 %1 36% 1@ &, 51 37 =1 A 377 B R ufa=se F7a1 8 @r PT
% =91 T A, 9 g wited
PA.PB=PT.

If PAB is a secant to a circle intersecting the circle at A and B and

PT is a tangent segment, then prove that :
. 2
PA .PB=PT.
' HGET
(On)

<199 T g9 1 A 3% B W yfasie ¥0 £ SR AC a1 AD F e S 991 5
=5 £ fag wifsa i C, B, D 9@ %1

Two circles intersect in A and B and AC, AD are respectively the

diameter of the circles. Prove that C, B, D are collinear.

28, 5EA # =1 =1 fagall P 3R Q 9 f551 391 =1 9121 % 3199 &M 60° 4R
45° % 4fe dim =t wimE 5043 e 3, F AR # e B fageii w it
s Fitee | fawg P oit Q WA & i #in from €

K—4035-A1
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(13 )

The angle of elevation of the 1op of a tower from the two poinis
p and Q on the ground are 60° and 45°. If the height of the
rower is 50v3 metres, find the distances of the two poinis from

the foot of the tower. The points P and Q lie on opposite sides of
the tower.

37erdr
(On)
moﬁaﬁaﬁqgr;wsﬁﬁﬁﬁwﬂmﬁmmﬁwwmz
30° T 45° F | ﬁmaﬁmqﬁﬁﬁﬁ1

From the top of & hill 100 m high, the angle of depression of the

top and the bottom of a tower are observed to be 30° and 45°

respectively. Find the height of the tower. 5
5 T % A 150 muﬁamﬁﬁ:mmﬁﬁmmﬂ st T T

S A 165 & HH W 105?&@@%1ﬁmvﬂmﬁm|
K—4035—A1 _ Turn Over
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(14 )

The mean of thirty values was 150. It was detected on recheckmg
that one value 165 was wrongly copied as 105 for the cnrnpm‘atlon
of the mean. Find the correct mean.

Zro7aT
(On
ﬁmﬁﬁfaamwﬁﬂ‘ﬁwmﬁémﬁj%ﬁqaﬁwwmwm

-

FIHAY ¢

(7T )

1 DOLT 50 24
150-200 40
200-250 33
250-300 28
300-350 30
350-400 22
400-450 | 16
450-500 7

K—-4035-A1
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(

156

)

From the following frequency distribution table find the appropriate

mean of household expenditure of manual workers in a city

Expenditure
(in Rs.)
100-150
150-200
200-250
250-300
300-350
350—400
400-450

450-500

Frequency

24
40
33
28
30
29
16

-

o

30. = T T T g 462 T HHi ¥ 3HE AHTS ] AAE TN T A

SEET T TF-Taa & | ST w1 ST 5w |

The whole surface of a cylinder is 462 sq. cm. Its area of curved

surface is one-third of its whole surface. Find the volume of the

cylinder.

K-4035-A1
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(2)

2
5—;-&-3){

Express the following :

—4+3x
S5x

as rational expression. 2
D ﬁﬁﬁﬁﬁﬁxmﬂﬁ§ﬁﬁﬁﬁ;
| 14785::16:.x
Find the value of x of the following :
14:35::16: x 2
3. o weE
X—4x+1=0

M-8



(3)
Find the discriminant of the quadratic equation :

x2—4x+‘f =

4. TE I w1 AEGT 125 ¥4 AR § 1 359w T g T i |
A cube has volume 125 cubic metre. Find its surface.
5. 54a % ultEs =1 gftyme fefag |
Define circumcentre of a Triangle.
cot 8 + tan 6 = cosec A sec ©
Prove that :
cot B + tan 6 = cosec 8 sec 6.
7. TF C3 T 99 W $ 99 e w1 U Taly fefen
Give a method for finding the centre of a given circle.
K—4035-B1

M-8
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8. TA=ATElEs =1 O° A ®iTaT
sin (90° — 6) . cot (90° — 6)
Find the value of the following :
sin (90° — 8) . cot (90° — 0).
9. =viled et iR fafre gege =1 ity fafem)
Define Crude death-rate and Specific death-rate.

10. == =13 = 21 qoyH fafe |

Write the two properties of Arithmetic Mean.
11. THE=FI0 &6 HIT9T ;
x+y=11
2x+y=13
Solve the equation :
x+y=11

2x+y=13

K—4035-B1
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(5)

12, 21 deal =1 A 35 3R IFE = 13 F 1 S J6 Hie |

The sum of two numbers is 35 and their difference is 13. Find the

numbers. 3
13. TUEETE A FI9C ;
xy(x—=W+yzly—2) +zx(z—x)
Factorize :

xy(x=y)+yz(y—2) + zx(z— x). 3

14, fr=fates g6 #1 97 fafs 9 56 S99
2
4x +4x—156=0
Solve the following equation by using formula :
2
4 X +4x—15=0, 3
15, 39 9% %1 GA%e S St foreaT = 4.2 F4L. 7

The radius of a circle is 4.2 cm. Findits area.

K—4035-B1 Turn Over
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(Or)

TF For mmma;Sﬁnmﬁﬁ.%-ﬁImwwﬂngaﬁﬁq%_%ﬁ
SHHT FF Tv3 7 hifem |

The volume of a cylinder is 36 7 cubic cm and area of its base is

9 m sg.cm. Find its curved surface.

16. &ys ABC T ST T T3 5157 BC = 6 it ZB=55°#R /C=70°|

Construct A ABC in which BC = g cm, £B = 55° and ~C = 707,
Draw the incircle to this triangle.

17 ﬁf@_‘-ﬁﬁaﬂ'ﬁ' :

cot? §

T —— cosec 8

1+ cosec 6

Prove that -
2

1+ caclBi = cosec 0

1+cosec 6

K—4035-B1
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(7))

e
(Or)
tan® § + tan’ @ = sec’ B —sec” @
Prove that :
tan® 6 + tan® @ = sec” 6 — sec” 6. 3
18. fag Fifsu ¥ ;
1}%%2% = cosecH — cotf
Prove that :

1 —oosl cosecd — coté 3
\'1+ cos8 =

19. 39 ¥I%, =7 whaet 91 wifoe frae fod= sar 28 S5t aor snun =1 fro
6 T T

K—4035-B1 Turn Over
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20.

21.

(8)

Find the curved surface of a cone, the slant height of which is

28 cm and the radius of its base is 6 cm.

= TG4 ABCD # 5t LA = (2 x + 4)°, /B = (y + 3)°, £C =

(2 y+10)" 3 2D = (4 x— 5)° &, & =1 =19 79 FF0 |

Find the four angles in a cyclic quadrilateral ABCD, if
£A = (2 x + 4)°, ZB = (y + 3)°, £C = (2 ¥y + 10)° and

ZD = (4 x-5)°,
=1 #9EY s 1 oA e 30 a9 R 20 T, ¥ | Al vel fayw =

The perimeters of two similar triangles are 30 ¢cm and 20 cm
respectively. If one side of first triangle is 15 cm, determine the

corresponding side of the second triangle.

K-4035-B1
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22.

== ABC ws 51 Twfgarg s & fomd £C o #1 fag #ifam

-

=
AB® =2 AC?

Triangle ABC is a right angled isosceles triangle in which 2C is

right angle. Prove that :
ABE — ACE. 4

A ABC o= == f34e & fsms B ===m 1 AD, BC W o= &, @i oz

AC® = AB® + BC® -2 BC .BD

A ABC is an acute angled triangle in which ZB is an acute angle

and AD is perpendicular on BC. Prove that :

AC® = AB® + BC*~ 2 BC . BD. 4

K—4035-B1 Turn Over
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( 10 )

23. fag =ifs T F %5 § S R =T T e e 1wt s zl

Prove that the perpendicular drawn from the centre of a circle to

its chord bisects the chord.

HYar

(On)
mewﬁgﬁ@?ﬁwami@rﬁmmwﬁ?ﬁﬁa [Er
Hifsa |
Prove that the length of the two tangents drawn from an external

point to a circle are equal.

24. PAB T 7 =1 3% W@ &, S 3w = A 4R B 9% =l ® 791 PT ws =99

@EvE ¥ 97 PA = 4 9., PT = 6 34, &, @ PB w1 e 3 i

PAB is a secant of a circle intersecting the circle at the point
A and B and PT is a tangent. If PA = 4 cm, PT = g cm, then

find PB.

K-4035-B1
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25. 9T ;

X - v - F
Pt-G=8 o+a—bh a+h=g¢
'ﬁ_I'_‘IEI rp-ﬁz; %HE:_I”?.% 4

(b-¢c)x+(c—-ay+(a—-bz=0

X % . z

b+c-a c+a-b a+b-c'

then prove that :

(b-c)x+(c—a)y+(a-b) z=0. 5

26. =1 FHNE WiEios WA T FIT9E fo= vl 1 A 221 ¥

Find two consecutive natural numbers whose square have the

sum 221, 5
27. I% T UH &l o791 § 59 51 FI0 99 § 0 o £

Any two angles in the same segment of a circle are equal.

K—4035-B1 Turn QOver
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(Or)
s = 1 fog o =i = g A
Prove that the degree measure of an arc of a circle is twice the

angle subtended by it at any point of the alternate segment of the

circle with respect to the arc.

28. TH TEE F JiE 6 By, TS S W U s g oo = e e

I T 10 45° ¥ I I T S mg - 5 i e f g ven

59 o & =51 %1 S99 #0191 30° 2 S B

Determine the height of a mountain, if the elevation of its top at an
unknown distance from the base is 45° and at the distance 5 km
further away from the mountain, along the same line, the angle of

elevation is 30°,

K—4035-B1
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(13 )
Iera
(On)

e e A S T 22 e S T A 8 60° R S 7 | TS

=1 =f B Fog e T SR g E, e R e U ¥ 9 et gl W E

TZ &1 T Sl A Hifad |

The upper part of a tree, broken by the wind in two parts, makes
an angle af 60° with the ground. The top of the tree touches the
ground a distance of 9 metres from the foot of the tree. Find the

total height of the tree. 5

29, ¥ F UF I viF, H, ] ¢ 10 F7. = ana W1 T 20 FAL E
T 4 T, SE # S T A T E, o e A g |
A solid metallic cone has the height of 10 cm and radius of the

base 20 cm. How many spheres of 4 cm diameter can be made Dy

meliing it ?

K—-4035-B1 Turn Over
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( 14 )
Hgar
(On)

?ﬁmﬁﬂtaanﬁmﬂmdr 4, %Qﬂmmzﬁ-raqmrs
W%ﬁmﬂaaﬁﬁwgwwﬁmwmﬁma

A hemispherical paper weight, diameter 4 cm has a air bubble of

2 cm diameter. Find the volume of the materi

weight.

al of the paper

30. ﬁmﬁmmﬁaﬁwwﬁaﬁﬁﬁwwmwm%q:

e
(&7 7)
100-150
150-200
200-250
250-300
300-350
350-400
400-450
450-500

K—4035-81

ST

24
40
33
28
30

16

6



(15 )

From the following frequency distribution table find the appropriate

mean of household expenditure of manual workers in a city :

Expenditure Frequency

(in Rs.)

100150 24
150-200 40
200-250 33
250-300 28
300-350 30
350-400 22
400-450 16
450-500 7

K—-4035-B1 - Turn Qver
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(On
A = = A 150 911 S 9 W 9 & me =1 afywe F= &
=R A 165 % = W 105 fovw 0 ¥ 1 w4 e e i)
The mean of thirty values was 150. It was detected on rechecking .
that one value 165 was wrongly copied as 105 for the computation

of the mean. Find the correct mean. 6

& —
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5x+3 4x-3
4x-5 5x+4

Solve the fmn.awlng :

4x-5 Ex+4°

2. fief@mEd § x y F WA HA S
¥

* X"I‘
X —

N

=

<
win

Find the value of x : y from the following :

> | x
| |+
b

Il

@

3. = HHEE
3% +7x-2=0
& el I 95 31a it

Vi—9



(3)

Find the nature of roots of the quadratic equation :
e
3x +7x-2=0. 5
4. T=E gu w1 =AH 14 T §| g9 F GAFA 719 Fion |
The diameter of a circle is 14 cm. Find its area.
5. =% = S 1w i | g9 w was g e w1 A fafe
Define the chord of a circle. Name the longest chord of a
]

circle. . 2

6. fag wifau f

cos® 0

—— +8inf = cosect
sinf)

Prove that :

@;s. g +8in6 = cosecH
sind 2

Define circumcentre of a triangle. 2

M—g t R



cot 8 + tan 6 = cosec B . sec o.

Prove that :

cot 6 + tan A = cosec B . sec 0.

9. Ta=AfeifEs AET F1 Wi T9 Hie0
20, 3, 30, 13, 10, 48. 27, 38, 17, 8, 25.
Find the Median of the following values :
20, 3, 30, 13, 10, 48, 27, 38, 17/, 8, 25.
10. =i & &1 ey feried |
Write the two properties of Median.
11. 31 el =1 49 36 3N 9w S 13 ¥ | HEA 6 Hifw

The sum of two numbers is 35 and their difference is 13. Find the

numbers.

K—4035-C1
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(5)

12. AT T HIAT, :
3x+y=7
4 Xx—3y=15
Solve the equation :
3x+y=7

4x-3y=5 3

13. eAEvE I HITAT ¢

2 2 2

X _ly=2) + y'{z—x) ¥Z x=y)

Factorize :

2 2 2

X (y—2)+y (z=x+2z (x=y). 5
14. Tr=fatEs a7 gee &1 ¥2 &9y 8 56 S0

P
3x —4x—4=0

Solve the following quadratic equation with the help of

formula :
z
3x =4 x—4=0. 3

K—4035-C1 Turn Over
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(6 )
15. T AT 1 AP 20 1w A $R S 51 A 4 1o S S| se
THEYS A FIH0 |

The volume of a cylinder is 20 n cu.cm. and the area of its base is

4 1 sq. cm. Find its curved surface.
a7eTEm
; (Or)
How much water will be contained in a hemispherical bow! of
diameter 7 cm.

16. T35t ABC # Wit 711 1 o #ifiw, w7t AB = 4 2., BC = 5 &4, 7epy

AC = 6 9. |

Construct the circumcircle of a triangle ABC when AB = 4 cm.,

BC =5 ¢cm. and AC = 6 cm.
K-4035-C1
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{2 wrv)
17. =aniwarg fafy | fag Fifew i .
, 9 2.
sin 8+cos B=1
Prove by geometrical method :
sin° 0 +cos B=1.
18, 795 W E2

2 2 Z 2
cot A +tan A+2=sec£.ﬁscosec A

Prove that :
cot A+tan” A +2=sec A cosecz A.
arerer
(Or)
sin 63° cos 27° + cos 63° sin 277 = 1
Prove that :
sin 63° cos 27° + cos 63° sin 27° = 1.
K—4035-C1
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(8)

19. 5% =@ ABCD & ZA = (2 x + 4)°, /B = y + 3)°,

£C=(2y+10)° 37 £D = (4 x - 5)° &1, 71 =/ =91 31 Ffw

In a cyclic quadrilateral ABCD, ~A = (2 x + 4)°, 4B = (y + 3)°,

ZC=(2y+10)°and 2D = (4 x— 3)°. Find the four angles.

20. ?.?aﬁﬁﬁ.ﬁﬁrﬁﬁraﬁﬁﬂimaﬂﬁr—ﬂ“m"mﬁmm@‘fwmm

Find the length of wire of 3.5 mm diameter that can be drawn from

7.7 cubic cm. of gold.

21. TF FeH A w1 #0150 e s § o e se w5 3w 200 6. e E)

T TE WA T @ fret i g 2

A man goes 150 m due East and then 200 m due North. How far

is he from the starting point ?

K-4035—-C1
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22.

(9)

AT

(On)
M #w N wm91: A PQR %1 9ensii PQ 37 PR # fag 8 | Are €7 72 =afa
= fe2 =723 &% MIN || QR & @1 721, 37 PM = 4 &, QM = 4.5 541,
M and N are the points on the sides PQ and PR respectively of a
triangle PQR. Determine whether MN is parallel to QR or not, if
PM=4cm., QM =45cm., PN =4 cm. and NR = 4.5 cm. 4
A ABC w= == e & f5=8 «B === & 941 AD L BC @1, @ fag

2 2 2
AC =AB +BC —-2BC .BD

A ABC is an acute angled triangle in which £B is an acute angle

and AD L BC. The prove that :

AC’ = AB® + BC® — 2 BC . BD. 4

K—4035-C1 Turn Over
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( 10 )
23, 73 Fw0 5 oo @1 1w wm g &
Prove that an angle in a semicircle is a right angle.
Hgar

(Or)

AB ahCDwaﬂC{a.dﬁmﬁlhaﬁﬁmmAcnam 7

AD |1 BC 1 afz £OBD = 50° &1, & Z/AOC T T |

AB and CD are diameters of a circle C (0, n. Prove that AC || BD

and AD || BC. If #zOBD = 50°, find ZAOC,
24. %?ﬁﬁh%ﬂmmaﬁmﬁmmwwmmﬁh

Prove that the tangents at the ends of a diameter of a circle are

parallel.
25, ﬁmma@ﬂmﬁﬁghﬁawﬁm’ﬂnzm Bl

Find the two consecutive natural numbers whose square have the

sum 221.

K—-4035-C1
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26. 9l :

21, 7 fag =iie 6

then prove that !

a® +b* _ac+bd
a®-b® ac-bd’

27. aﬁ@aﬁmmﬁmﬁﬁﬁwmﬁmﬁﬁrwﬁﬁmmﬁﬂém
%@T%Wﬂﬁ#ﬁﬂﬂﬁﬁ#ﬁm@vﬁﬁmﬂﬁaﬂmﬁm:wzﬁ

%\ fog wifea

K—-4035-C1 Turn Over
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(12)

If a chord is drawn through the point of contact of g tangent fo a
circle, then the angles which this chord makes with the given tangent
are equal respectively to the angles formed in the corresponding

alternate segments. Prove this.
gar
(Or)

”ﬁﬁﬁﬁmmmﬁwwaﬂmwmmﬁw

Pl

T % T g, W w A w o w e  E

Prove that the degree measure of an arc of a circle is twice the
angle subtended by it at any point of the alternate segment of the

circle with respect to the arc. 5

28. TF IE w1 F9E fA 200 A S T | e S R U g S i s

%mmm:%”ﬁmﬁoﬁmﬁmﬁﬁém%@

From the top of cliff 200 m high, the angles of depression of top
and bottom of a tower are observed 45° and 60° respectively. Find

the height of the tower.

K—-4035-C1

M-9
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AT

(Or)

- r

2000 Hz 7 T T U 1 F T IS T T 2 e 4 F A

37 Frorm e Targadl & eraTaa = HA: 457 3R 30° € | & &1 == A7
TS |

On a river an aeroplane at the height of 2000 m. observes
the angles of depression of opposite points on the two banks
of the river to be 45° and 30° respectively. Find the width of the

river. 5

29, T vim F MH N &FAF 9 1 F FHL R Ty 15 © & FEL ¥ 6

The area of the base of a cone is 9 © sg. cm. and its curved
surface is 15 m sg. cm. Find its volume.

K—4035-C1 Turn Over
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( 14 )

Hear

(On)
7 HieT Sl U g Uk gun A w5 i e 1 wftfey 352 e
| 9EF F A ST Fif |
A road which is 7 m wide surrounds a circular park whose

circumference is 352 m. Find the area of the road.

30. % = =1 "5 150 mlﬁfhmﬁmwmwﬁmmaﬂaﬁwwﬁaﬁ

ZWF A 165 F T W 105 fera T & Hel HIA S FHifo |

The mean of thirty values was 150. It was detected on rechecking
that one value 165 was wrongly copied as 105 for the computation

of the mean. Find the correct mean.

K—4035—-C1
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(15 )

(on

e AT A § U A S R @ 9w w1 e W

HIT

M-9

(T )
1:)‘&-’{;5&
150-200
200-250
250-300
300-350
350-400
400-450

450-500

24

40
33

28

30

16

~ Turn Over



( 18 )

From the following frequency distribution table find the appropriate

mean of household expenditure of manual workers in a city :

Expenditure Frequency
(in Rs.)
100-150 24
150-200 40
200-250 33
250-300 28
300-350 30
350-400 22
400-450 16
450-500 i

K—4035-C1
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(2)
1. Feifafen sems %t mivrm am #it -
| 3,8,4,6,57.5
Find the Median of the following numbers :
3,8,4,6,5,7, 5. ﬁﬂﬂ

#{'21—1_ 3x+1 Y
N

Find the product of the expression : ZalY B

%24 3x+1 | .
X+:2:1 X‘E--—B"

3. = wHEay

2 S
X +5x+8=0

FT R RSl

Find the nature of roots of the quadratic equation :

f+5x+3=u e 5




( 3 )

4. T =5 T AFTT 1381 ¥ X T | SHHT FR FHI 9 T HI9C |

The volume of a cube is 1331 cubic metres. Find its side. 2
5. 4
2
cos B=1/2
B,
. 2
sin o
=T HE 79 F 19 |
|f
2
cos B6=1/2,

then find the value of
sin” 6. 2
a1
8, 10, 5,15, 13 3R x
=1 A 7T 10 ©, o X &1 9F 96 Sie |
If the Arithmetic mean of
8,10,5,15,13 and x

is 10, then find out the value of x. 2

K—4036-A2 Turn Over
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(4)
7. 4 x?y AR 9 vz 1 HEAC 0 i |
Find the mean proportional of 4 xzy'and 9 _-yzé. 2
8. oz =ifu fiF s1giam =1 = T 2 3
Prove that an angle of a semicircle is a right angle. 2
g, ﬁaﬁ%ﬂﬁ%aﬁqﬁﬂfw%m
Write the definition of circumcentre of a triangle. tassil 2
10. fog =ifsg f .
sec” 6+ cosec = sec 0. ME .
Prove that :

- 2 5 2
sec’ 0+ cosec” 0= sec’ 0. cosec2 6, 2




( 5) -
11. Z1 T2 1 90he 16 B 1 A 371 30 595 A= o1 318 TAI &, 9 9ed
A FifaT |

The sum of two numbers is 16. If the sum of the numbers is eight

time the difference of the number. then find out the numbers. 3
12. OH=FT 56 FI90 ;
4 x+y=180
-5 x+3 y=30
Solve the equation :
4 x+y=180
-5 x+3y=30 3
13. UFETE 9 ST
x( =) 4y (@ =x)+z(x )
Factorise :
x{yz—zz}+y{zz-x2]+z(x2—y2). 3

K—4036-A2 Turn QOver
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(6)
14, =fE o, =71 =
é‘:ar'.-?-';+ bx+¢c=0

£ Iiﬁﬁ,fﬁ

If o, B are the roots of the quadratic equation :
]

i axz +bx+c=0, .

then find the value of :

15. wnfirdr farfis & Forg tfore o

- e
sin 8+cos B=1

4

By Geometrical method prove that :

sin“ 6+ cos B=1.




16.

0° <8 < 90° = 4 fug wifsu & .
(1 —cos 8) (1 +cos 8) (1 +cnt2 #)=1.
For 0° <6 < 90°
prove that ;
(1 - cos 8) (1 +cos 8) (1 +cot ) =1. 3

=33 ABC & 90T 9 =i T51 119, 571 AB = 4 §H1., BC = 5 ¥H1. a1

AC =6 T91. 8| T & g 41 TofEm |

Construct the circumcircle of the triangle ABC, where
AB =4 cm, BC =5 cm and AC = 6 cm. Also write the steps of

construction. 3

K—4036-A2 | Turn Over
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(8)
17. TF ¥ 5 HHR F1 9% 9 1 ot T ok 7%y 27 noad 9. B smE
HAEER A FHiag |
The area of the base of a cone is 9 7 sq. cm and curved surface
is 27 © sq. cm. Find its volume. ’ 3

8. Tag Fiau fE .

(secO — tan 3)2:1 = s’"B
' 1+ sing

Prove that : .

1-sin6
1+sing"

' ~ (sech - tand)® =
(0n)
T wifo f - |

1 -._QEJS:B ~ cosec0 - cotd

1+cosb

Prove that :

1-cos@

Y 1+cosh

=cosecf—cotf _ 5

K—4036-A2
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(9)

19. 3 =4 = 2 TS =1 9ea 700 = §1 5 Hfddi = 3 s #1749 1,100 % 31

2 =fddi = 2 TS %1 7oA i Hiter |

3 chairs and 2 tables cost Rs. 700 and 5 chairs and 3 tables cost

Rs. 1.100. What is the cost of 2 chairs and 2 tables 7 4

20. 9= yay fafEu 3k fag Fifeu|

State and prove Thales theorem. 4

o1 faeh oo e F1 S9%E 1540 &9 F491. ¥, 98 %5 W 50° T R0 F<ia

Ta1 & g9 T e 9 Hifeg |

A sector of a circle subtending an angle of 50° at the centre has an

area 1540 sqg. cm. Find the radius of the circle. 4

K—4036-A2 Turn Over
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(10 )

22. Tag =i f= 21 w0% S % S50 51 A9 (el o) 91g et F a7

F 90 & =09 B B

Prove that the ratio of the area of two similar triangles is equal to

the ratio of the squares of any two corresponding sides.
HEgT
(Or)

State and prove Pythagorus theorem.

23. Tag Fitaw I 90 % &% 4 5T % 97 fag 1 (90 g (@ Se « o

Prove that the line joining centre of the circle to the mid-point of a
chord is perpendicular to the chord.

qerar

(Or)

T F1T9 T 99 % =99 & 81 W "] TE =59 @9 gaE gl

Prove that tangents at the ends of a diameter of a circle are

parallel.

K—-4036-A2

M-25



24 foz Fifan T 9 g fasdl 8 991 % 3K 9 T&F o9 @i =

TFd &

There is one and only one circle passing through three non-collinear

points. 4

5. Ffc a. b, ¢ AN d famarTe # #, i fag Fifaw

a’+ab+b® a

b?+bc+c® ¢
If a, b, c and d are in continued proportion, then prove that :

a®+ab+b° a

“bPibcic® c g
26, B FHE WET W T T fd a1 drhe 265 F
Find two consecutive natural numbers whose squares rh_aﬁ:r.e the
sum 265. 5
K—4036-A2 Turn Over
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( 12 )

- e

27. =41 9= T T 7R # v 1 3=y 60° &1, 1 35 fog & 40 Hrez Tiaw

st

H H4F 57 724 W fTER =1 ==as 30° & I & | 99K =7 3= 36

=

q-li:-l-ié‘:

At a point, the angle of elevation of the top of a tower is 60°. on
walking 40 metres away from this point (more distance from the

tower) its elevation is 30°. Find the height of the tower.

HIGT

(On)

T R % S T OS] O g ¥ | A R & 25 e el § e

3N U2 % 9P & S0 10 HAY: 45° 991 60° 3 ¥ wher o i

TS ] T F9 R ITHE |

A Flag is hosted atfthe top of a temple, 25 metres away from the
base of the temple, the angles of elevation of the top of the temple
and the flag are 45° and 60° respectively. Find the height of the
temple and that of the flag.

K-4036-A2

M-25



(13 )

28. 5 &1 oo a1 U 9w H AB @it AC <1 ii=smE & 5iel AB = AC =6 551, | 5a
BC =7 &S 3 Hifad |
In a circle of radius 5 cm AB and AC are two chords such that

AB = AC = 6 cm. Find the length of the chord BC.

HAG4ar

(On)
AB 2 CD U= 3q =1 1 Sfard €, 51 AB = 10 1., CD = 24 3. 3i
AB | CD % =ifg AB 3R CD & == %1 g4 17 . &, T g9 =1 frsa 7

FITS7T |

AB and CD are the two chords of a circle, where AB = 10 cm,
CD =24 cm and AB || CD. If the distance between AB and CD is

17 cm, find the radius of the circle. 5

29. T TEAE FH19 F AT 319 T 99131 731 & | I 39 6 1 A0 Srga

9T ST 5 e o, O IV i 9 U9 S e & 39 5
Al

K—4036-A2 Turn Over
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(14 )

A solid sphere is made from a spherical shell by melting it. If the
volume of this sphere is equal to the volume of the hollow part of

the shell, find the ratio of the external and the internal radii of the

shell.
HAeaar

(On)

914 = 4 =99 9 5w =1 11 3491 21 0.5 397 =979 = ffay Tieta =9
TE T HEA B 2
A cube of 11 cm elige made of lead is melted and moulded into

balls of 0.5 cm diameter. How many such balls can be made ? 6

30. Tsferen A 9o § oy faf gr o e 79 #ifeu
a1 ST IR
0-20 8
20-40 15
40-60 ; 20
60-80 12
80—-100 5
K—4036-A2

M-25
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(15 )

Find Arithmetic Mean from the following data by short cut method :

Class Interval Frequency
0-20 8
2040 15
40-60 20
60-80 12
80-100 5
argar
(Or)

WG % U TR H HEE O % UEn 3 992 ¥ MeiEien e g 59

-
_.
o

=t 1995 % geg 2000 % ge=
(%.9) (5. T)
=" 40% 140 165
797 10% 20 23
F921 20% 60 70
f=ay 30% 40 48
1995 1 AMR-= 9Ma 99 2000 #1 Fate =59 Towis 36 Frm |
K—-4036-A2 Turn Over
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(16 )

An enguiry into the budget of the middle class familics In a certain
city in India gave the following information

Expenses on Price in 1995 Price in 20060
(in Rs.) (in Rs.)
Food 40% 140 165
Fuel 10% 20 23
Clothing 20% 60 70
Miscellaneous 30% 40 48

Find the cost of living index in 2000 as compared with base year

1995.

K-4036-A2
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frder: (i) 9 vy sAferd 2
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1, wifeg=r = FE 8 7 feied |
Write any two merits of Median.

2. afz sin® = 2/3 8, 7 cos @ I T FE HITAC
If sin’6 = 2/3, then find the value of cos 6.

3. um vErEvs AB # e 5 ¥ €1 4 T e w1 s g9 witee S A #
BHEHL 4|
A line segment AB is of length 5 cm. Draw a circle of radius 4 cm
passing through A and B.

4, =fz o v S famol w1 o 30+/3 F. &, = =1 U 4l i oA
T |
If the diagonal of a cube is 30+/3 cm, then find the length of one

side of the cube.

K—4036-B2

M—26



5. AMES FE FHifau

2x+5+5x—?
¥ o Xy

Find the sum :

2% +5 BXx—=T7
x =3  #=8 2

6. Tr=ifafEm =0 TR & fSfasast 3 S

V3 x* -2y2x -2J3 =0.
Find the discriminant of the following quadratic equation :
J2 %% - 22k - 2.3 =0, 2
7. 43 81 = HEATI! A I |
Find the mean proportional of 4 and 81. _ 2
8. Tays = ufts= =i witwmn fefay )

Write the definition of circumcentre of a triangle. 2

K—-4036-B2 Turn QOver
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(4 )
9. Trefaras aiwsl & W w3 Fi
5 7,3,1,9, 11.
Find the Arithmetic Mean of the fo]lowing values :
3, 7,3, 1,9, 11.

10. fag =ifom & -

sin 63° cos 27° + cos 63° sin 27° = il

Prove that :

sin 63° cos 27° + cos 63° sin 27° = 1.
11. TEvs @ S

ab(a—b}+bc{b—c}+ca(c~a}.

" Factorise -

ab{a-b}+bc{b—c}+ca{c:+a).

K—-4036—-B2
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(5)

12. K =1 9H 94 shifed f99s fow F=m
Kx+3y=8
IX+¥-y=1
F] UF Hizar g9 B
Find the value of K for which the system :
Kx+3y=38
5x+y=1
has a unique solution. 3

13. TF v T FUR F &A% 154 T FH. 721 3591E 24 It B | IR = 95 TS

SIS

The area of the base of a cone is 154 sg. cm and height is 24 cm.
Find its curved surface. 3

K-4036-B2 Turn Over
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(6 )
14. TF=iiafan = wHw &1 g3-fafy 3 = =it -
2
6x —11x-35=0.
Solve the following quadratic equation using formula :
2
6x —11x—-35=0.
15. Y= ABC % 3ia:99 =1 w1 #1753, 527 AB =4 FHT., BC = 5 9. a1
AC = 6 3141. |
Construct the inscribed circle of the triangle ABC, when AB = 4 cm,

BC=5cm and AC =6 cm.

16. THMHIY 36 HiTIT .

cost " cos 6
1-sin® 1+sing

Solve the equation :

cost L _cos8
1-sin® 1+sing

K—4036-B2

M-26



( 7%3)

HAYdT
(On)
[ ~EoR Y (cosec 6 — cot 6).
\1+ cos @
Prove that :
100 (cosec © — cot 0). 3
\ 1.+ cos 6
17. e 26 IS
5x —3y=1
2x+5y=19
Solve the equation :
5x—3y=1
2x+5y=19

K—-4036-B2 Turn Over
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(8)

(On)
3x-5y=19
—7x+3y=-1
Solve the equation :

L]

3x-5y=19
~7x+3y=-1
18, fwr faf & fag wifed i
| 1+ cot’6 = cosec’8.
By Geometrical method prove that :

1 + cot'® = cosec 0.

M-26

o e e e ——————————




(9)

10 =g A2 R A RA3TA R 1/4 AT &, A< AW A6

Sre fean wd A = 8 % TN = faan < A o= 2/3 @ st 71 o= I

Y i,

._.r:'

A fraction reduces to 1/4 when 2 is subtracted from the numerator
and 3 is added to the denominator, but it reduces to 2/3 if 6 is
added to the numerator and the denominator is multiplied by 3.

Find the fraction. 4

20. fag Ffed fF g9 % B Q@ Sia & HeA fag i et gt T Sien v
i
Prove that the line joining centre of a circle to the mid-point of a
chord is perpendicular to the chord.

HAG4T

(On)

firz 97 T 6 99 S o9 & SR W EE T TR Y@ WA e ¢ |
Prove that tangents at the ends of a diameter of a circle are

parallel. _ 4

K—4036-B2 Turn Over
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( 10 )

21. Tog =13 T =i =gw & v0g@ =i 5 faet off g =1 dmmeer 180°
Prove that the sum of either pair of opposite angles of a cyclic
quadrilateral is 180°.

22. Az =9 = 21 gaEy s = ETTell T ST et 5T &1 T e & o
% ST % A Ol

Prove that the ratio of the area of two similar triangles is equal to
the ratio of the squares of any two corresponding sides of the

triangles.

3T

(on
State and prove Pythagorus theorem.

23. 2 99i. = ATt 64 Tiferdl w1 freerst o =2 Tom a9 Ty | a9 e

A sphere is formed by melting 64 balls of radius 2 cm. What is the

radius of this sphere ?

K—-4036-B2

M-26
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04, =1 TuEy THysi 1 uivarg 30 . 7 20 L. T | AfT Teet S F TF 4=

25.

{ 1)

The perimeters of two similar triangles are 30 cm and 20 cm

respectively. If one side of the first triangle is 12 cm, determine the

corresponding side of the second triangle.

~

gz :

X iy z

bfcea Ccira—b asb-=p

- -

o, 91 THE EM:IG_% H

(b-c)x+(c-a)y+(a-b)z=0.

X 4 1% El z
b+rec—-a ec+a-b a+b-g'

then prove that :

(b-c)x+(c-a)y+(la-b)z=0.

K—4036-B2

M-26

Turn Qver



26.

27.

{ 12 )
T FHE A T FHRIO S e o (. 7) 5x 2R (3x— 1) 74 £
A= TS T a=he 60 =7 1. &, s w1 1 g 9 e |

The sides (in cm) of a right triangle containing the right angle are
5xand (3x—1). If the area of the triangle is 60 cm”, find the three

sides of the triangle.

fereit et < fomer s 3= = yfs e fom o fag & 30° & o fameft

=1 AR 50 Hi2t 5o W T &1 3599 =01 45° 5 o 3 fane F1 FTR
JH Hited |

The angle of elevation with a point on the ground of the top of
chimney is 30° after moving 50 metres towards the chimney the

angle of elevation of its top is 45°. Find the height of the chimney.
HAerar
(On)
8 Tt ol Uk WGl Ush farwref & wedd =51 5157 3 8 1t AT ugEd] € | 3t T
& U W E % YR w5 w5 60° A, 7w wt e wm =i
8 metres long ladder reaches 8 metres below the top of an electric

pole. If the angle of elevation of the top of the pole at the bottom
of the ladder is 60°, find the height of the pole.

K-4036-B2

M-26
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( 13)

AB Il CD %1 7 AB @i CD 3 o= =7 = 3 3. &, 4 o =1 w1 7

FIfeTd |
AB and CD are the two chords of a circle, where AB = 5 cm,

CD =11cm and AB || CD. If the distance between AB and CD is

3 cm, find the radius, of the circle.

(Or)

Iz AABC T 9Rfgag AT, RIAB=AC &, A fas #INa fF AABC =

IfgT & fa< A T o33t t@n BC & 99 26l & |

If A ABC is isosceles with AB = AC, prove that the tangents at

A to the circumcircle of A ABC is parallel to BC. 5

K-4036-82 Turn Over
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( 14 )

29. Tr=ietem S arvl § @y e g7 9 5 3 #it -

T I SAEETAT
0—20 8
20-40 15
40-60 20
60-80 12
80-100 5

Find Arithmetic Mean from the following data by short cut method -

Class Interval Frequency
0-20 8
20-40 15
40-60 20
60-80 12
80-100 5
K-4036-B2

M-—26



( 15 )

FgaT
(Or)

aFE % TF TR 4 g gl % ofEn] & F92 o Fefaieg SHsEl 9 =11

B

== 1995 ¥ Tea 2000 ® Hed
(% H) (%.H)
= 40% 140 165
$u4 10% 20 23
F9z1 20% 60 70
fafasg 30% 40 48

1995 = ATeT = FEET FY 2000 F FEE 7 THF <7 1T |

An enquiry into the budget of the middle class families in a certain
city in India gave the following information :

Expenses on Price in 1985 Price in 2000
(in Rs.) (in Rs.)

Food 40% 140 165

Fuel 10% 20 23

Clothing 20% 60 70

Miscellaneous 30% 40 _ 48
Find the cost of living index in 2000 as compared with base year
1995. 6

K—4036-B2 Turn Over
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(16 )
30. TF FEAHER A 1 R0l gng 84 xva T, ) of e w 5 At e
T SAH 8 HH. €, W HerE T w5

The whole surface of a cylindrical tube is 84 1 sg. cm. Find its

thickness, if its length is 5 cm and external diameter is 8 cm.
Agar
(Or)

W T el U 2! st e 15 iz, Srer 10 et 791 72w 6 Hizx
&, S €1 2,50 T Wi Hex 71 51 F g 1 Hew e v S
FiT A F ISE 4 Hieg ¥

Atank 15 metres long, 10 metres wide and 6 metres deep is to be

made, if it is open at the top. Determine the cost of iron sheet at

the rate of Rs. 2.50 per metre, if the sheet is 4 m wide.

K-4036-B2
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(2)
15,8,11,9,10,2,6,13,8
Find the Median of the following values :

5 3,11,9, 10,2, 6, 13, 8. Ch 2

w2 -16

R.:
AT y-4

%, 91 A.B =1 HF 1 i |

If

find A.B. - - ol
3. 4 =% 49 7 W T FIHT

Find the mean proportion of 4 and 49. oot 1kl

KeaUsa4ED

M-27 e




(3)

4. giatemarTsd foes 9@ 2446 3 2-4/6 ¥

Construct the quadratic equation whose roots are 2+./6 and

2—6. 2

5. uH% TEA H UF T 14 HieX ot v § A 5 ) s 9w e s =

o 1 Hhdl & 7

In a grass lawn, a cow is tied with a rope 14 metres long. How

much area can it graze ? 2
6. oz =itau fF srgam =1 v gaam 2. 31
Prove that an angle in a semicircle is right angle. 2
7. TS % gt o g fefE
Write the definition of circumcentre of a triangle. 2
8. Tz FiNEF

cos 0 .cos (90 —-8) —sin 8 .sin (90-0)=0
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.
Prove that :
Cos 8. cos (90 —B) = sin 6 . sin (90 — ) = 0, 2

9. = =E & 91 T fafa

Write two merits of Arithmetic Mean. 2
10. =S #7199 9@ wifew

sin” 24° + cos” 24°
Find the value of the following :

sin2 24" 4+ 0032 24° 2y

11. =1 Hems =1 9m 8 ¥ 3fe =9 9 =58 F=I H1 9R A E, 9 gEEmE T

sl |

The sum of two numbers is 8. If the sum of the numbers is four

times the difference of the numbers, then find out the numbers. 3

K—4036—-C2
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12. TURETE T FIAC
a (b+c)+b (c+a)+c (a+b)+2abc
Factorise :
&b+ +b (c+a)+cC (a+b)+2abe 3
13. = IHEI B HIToT ;
2
X —26x+25=0
Solve the quadratic equation :

x2—26x+25:{1 3

14, © v F1 9% IO T HIGC G5H F96 12 FH. g FHR = H=
3.5 =4 T
Find the curved surface of a cone, whose height is 12 cm and the
radius of the base is 3.5 cm. 3
15. A ABC = 9708 g9 1 151 Fife, a1 eas =1 5 941, 3
Construct circumcircle of triangle ABC whose every side is
S cm. 3
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16. wfar fafu 3 fa wifo & -
1 +tan° 6 = sec” 0
By Geometrical method, prove that :
{ +tan’ 0= sec b,
. (0
(1-sin8) (1 +sin6) . sec’d=1
Prove that : |
(1—sin 6) (1 + sin 8) . St Dmasg ety 3
17. S8 76 &g . .
Tx-2y= 3
22 x=3 y= '1:;6:.




Solve the equation :
Tx=2y=3 i’

22 x-3y=16 3

cos® _ 1-sint
‘15 sind cos

Prove that :

1+sin® cosB °

(on

#0011 sin®e
secf  1-cost




18.

20.

K—40

M-27

(8)

Prove that :

1+secd  sin®0
sect 1-cosB’

g 1190 T 99 % S 0 Ser & 7 fawg, 31 Toar =t T st o o

-

T E |
Prove that the line joining the centre of a circle to the mid-point of
a chord is pﬁrré_le_ﬂﬁ.i_aularta- the chord.

(On
Prove that the tangents at the ends of a diameter of a circle are
parallel.
AABCH £LC=84B=2(LA+4£B)&.@ ﬁﬂaﬁﬁ“ﬁﬁmﬁﬁﬁﬁml
In a triangle ABC, ZC = 34B =2 (ZA + /_‘B) find the three

angles.

4

4




(9)

21, Tag =itey e &1 ey Faesi & Shei =1 ST Tl a1 67 g & o

% I T TS R 9

Prove that the ratio of the area of two similar triangles is equal to

the ratio of the squares of any fwo corresponding sides.
HAgEr
(Or)

State and prove Pythagorus theorem.

22 fog =itaw fF owg 9qds & =55@ =0 & & 4 q7H % IEd 180°

= =

I
3
il

Prove that the sum of either pair of opposite angle of a cyclic

quadrilateral is 180°.

23. 45 1. = 1 4 HHI. =99 9 ¥ ® UF 9ad 9 6§61, == 9 [Fa

e a8 51 9% © 7

How many spheres of 6 cm diameter can be made out of a
metallic solid cylinder having a diameter of 4 cm and height

45 cm ?

4

4
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¥z AD L CBE,a

24. A ABC T sifermanm g &, formem £B s
forg Fiferg i -
AC” = AB" + BC" + 2 BC . BD
A ABC is an obtuse triangle, whose £B is obtuse angle. If
AD L CB, prove that :
AC® = AB® + BC® + 2 BC . BD 4

25, 7z - .

4ab
- a+b

&, 7 Tag St .
%*?€+%+2?:2
Xx-2a x-2b

If :
=380
a+b

then prove that : ' el ' >

X+2a x+2b LA =
- = ——=p
X—24 ¥_2b v . B

M-27 TSt



26.

27.

2
ax +hx+c=0

Ao, P,

=1 94 A6 SN0 |
If & and P are the roots of the quadratic equation :
2
ax +bx+c=0,

then find the value of :

a B

S M

poa
o 3= 3 PAB 32 Y@ € =i o #i fag 3 A 3 B o wfaess ww! ¢ 991 PT

n

2
PA .PB=PT

If PAB is a secant to a circle intersecting the circle at A and B and

PT is a tangent segment, then prove that :

PA.PB=PT.
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HIdT

(On)

1T TF F9 1 S F wE 2 , Sen & w0y 99 w5 51w b sk B s

a1 98 SIS 5 -
2 2
2th=h + /

If the length of a chord of a circle is 2 /, the height of a minor arc

from the chord is A and its radius is r, then prove that :
2rh=h +1°

28. TF TSl T 2 91 feord € TN S wwi § verst # 9  I=ET w 30° S

60° T 1 3fT et TR % @ A TErSt w1 = #1500 9 Fe. &, gmt A S

%5 9 gErs] w1 =E H gl 7 e |

The angles of elevation of the top of a hill at the city centres of two
towns situated on either side of the hill are observed to be 30° and
60°. If the distance up-hill from the first city centre is 9 km, find the

distance up-hill from the other city centre.

K-4036-C2
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(13 )
HaaT
(On

=T Tom1 = ferer =1 s = o o2 fgm o T 9 30° & < o

1 4R 25 Hie go W 39 et w1 3990 =i 45° 2 9 B et =

o= E L e
FHHlz Fild =hi[FH |

The angle of elevation with a point on the ground of the top of a
chimney is 30°, after moving 25 metres towards the chimney the

angle of elevation of its top is 45°. Find the height of the chimney. 5

29. fr=iatey SR I 9 @Y 54 g 7971 oe 96 Sife

T 3T AT
0-20 8
2040 15
40-60 20
60-80 12
80-100 5
K—4036-C2 Turn Over
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N34 )

Find Arithmetic Mean from the following data by short cut method :

Class Interval Frequency
0-20 8
20-40 15
40-60 20
60-80 12
80-100 5
AgaT
(Or)

i 1995 & 7oy 2000 # 7o
(% ) (% )
=T 40% 140 165
359 10% 20 23
F931 20% 60 70
fafsa 30% 40 48

ngsﬁﬁwaﬁwaﬁzoooaﬂﬁaﬁrmﬂ?rmmaﬁﬁm
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(15 )

An enquiry into the budget of the middle class families in a certain

city in India gave the following information :

Expenses on Price in 1995
(in Rs.)
Food 40% 140
Fuel 10% 20
Clothing 20% 60

Miscellaneous 30% 40

Price in 2000

(in Rs.)
165
23
70

48

Find the cost of living index in 2000 as compared with base year

1995.

o

30. 7.7 =9 997, 94 § 9 3.5 foeiiHe =8 F1 fEad s &1 9% '@

What is the length of the wire of 3.5 mm diameter that can be

drawn from 7.7 cu. cm. of gold ?

K-4036-C2
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-.{ _1:._53 )

(On)
= T T T R 15 9 7w 5 3. 31 T S 24 T &
The radii of the ends of a bucket of height 24 cm are 15 ¢cm and
5 cm. Find its capacity. ' 3 &

-
£l
i
-

M-27



